

NAME: ADE TELLY TEMTOPE ORENUTS  
 DEPARTMENT: CHEMICAL ENGINEERING  
 MATHEM NO: 16/ENGR01/2023

Using the Leibnitz theorem, prove that

ii)  $y = x^3 e^{4x}$  determine  $y^5$   
 $u = x^3 \quad v = e^{4x}$

Solution:

$$y^5 = 4^5 e^{4x}$$

$$y^4 = 4^{5-1} e^{4x} = 4^4 e^{4x}$$

$$y^3 = 4^{5-2} e^{4x} = 4^3 e^{4x}$$

$$y^2 = 4^{5-3} e^{4x} = 4^2 e^{4x}$$

$$y^1 = 4^{5-4} e^{4x} = 4 e^{4x}$$

$$y^0 = 4^{5-5} e^{4x} = 4^0 e^{4x} = e^{4x}$$

$$v^1 = 3x^2$$

$$v^2 = 6x$$

$$v^3 = 6$$

$$v^4 = 0$$

$$y^5 = \left\{ 4^5 e^{4x} \cdot x^3 \right\} + \left\{ 5 \cdot 4^4 e^{4x} \cdot 3x^2 \right\} + \left\{ \frac{5(5-1) \cdot 4^3 e^{4x} \cdot 6x}{2!} \right\}$$

$$+ \left\{ \frac{5(5-1)(5-2) \cdot 4^2 e^{4x} \cdot 6}{3!} \right\}$$

$$y^5 = 1024x^3 e^{4x} + 3840x^2 e^{4x} + 3840x e^{4x} + 960 e^{4x}$$

$$y^5 = e^{4x} \{ 1024x^3 + 3840x^2 + 3840x + 960 \}$$

iii)  $x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$

Show that  $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$

Solution

$$x^2 y'' + x y' + y = 0$$

$$\downarrow \quad \downarrow \quad \downarrow$$

$$w_1 \Rightarrow y = y^2 \quad v = x^2$$

$$y^n = y^{n+2} \quad v^1 = 2x$$

$$y^{n-1} = y^{n+1} \quad v^2 = 2$$

$$y^{n-2} = y^n \quad v^3 = 0$$

$$w_1^n = y^{(n+2)} \cdot x^2 + n \cdot y^{(n+1)} \cdot 2x$$

$$+ \frac{n(n-1) \cdot y^n \cdot 2}{2!}$$

$$w_1^n = x^2 y^{n+2} + 2nx y^{n+1} + n(n-1)y^n$$

Ans 4) Variation of Parameters  
 16/24/2023

$$w_1 \Rightarrow u = y', \quad v = x$$

$$w_1^n = y^{n+1} \cdot x + n \cdot y^n \cdot 1$$

$$y^n = y^{n+1} \quad v' = 1$$

$$w_2^n = x y^{(n+1)} + n y^n$$

$$y^{n+1} = y^n \quad v'' = 0$$

$$w_3 \Rightarrow u = y^0 \quad v = 1$$

$$w_3^n = y^n \cdot 1$$

$$y^n = y^n \quad v' = 0$$

$$w_3^n = y^n$$

$$w_1 + w_2 + w_3 \cdot 0$$

$$x^2 y^{(n+2)} + 2x n y^{(n+1)} + n(n-1) y^n + x y^{(n+1)} + n y^n + y^n \cdot 0$$

$$x^2 y^{(n+2)} + x y^{(n+1)} (2n+1) + y^n (n^2 - n + n + 1) \cdot 0$$

$$x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^n = 0$$

$$y = e^{x^2+x}$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + 2e^{x^2+x}$$

↓  
y'

↓  
y

$$y'' = (2x+1)y' + 2y$$

$$y'' - (2x+1)y' - 2y = 0$$

↓  
w<sub>1</sub>

↓  
w<sub>2</sub>

↓  
w<sub>3</sub>

$$w_1 \Rightarrow u = y^2 \quad v = 1$$

$$u^n = y^{n+2} \quad v' = 0$$

$$w_1^n = y^{n+2}$$

$$w_2 \Rightarrow u = y' \quad v = -(2x+1)$$

$$u^n = y^{n+1} \quad v' = -2$$

$$u^{n-1} = y^n \quad v'' = 0$$

$$w_2^n = -(2x+1)y^{n+1} + n(-2)y^n$$

$$w_3 \Rightarrow u = y^0 \quad v = -2$$

$$u^n = y^n \quad v' = 0$$

$$w_3^n = -2ny^n$$

$$w_1 + w_2 + w_3 = 0$$

$$y^{n+2} + (-(2x+1))y^{n+1} - 2ny^n - 2y^n = 0$$

$$y^{n+2} = + (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2y^n(n+1)$$